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Using the...

:3 Quadratic equations

@ Section 8.2 Using the quadratic formula






(Example 1 )

Use the quadratic formula to find the roots of the equation 5x%> + 7x — 3 = 0,
correct to two decimal places.

Exercise 8.2

Solve the following equations using the formula —b+ /b2 — 4ac
X = —
2a

Give your answers correct to two decimal places.

1. X*+4x+2=0






Solve the following equations using the formula —b+ B2 — 4ac

x —
2a
Give your answers correct to two decimal places.
2. X*+6x+4=0
Solve the following equations using the formula —b+ B2 — 4ac
X = —
2a

Give your answers correct to two decimal places.
AN
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3. XX+ 2x—5=0

a- x= —@)1 (- 40)Cs) |
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Solve the following equations using the formula —b+ B2 — 4ac
2a

Give your answers correct to two decimal places.

a b C
4., x*—2x—7=0

a= x= -2y 4(NE3)

b=-1 2(1)
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Solve the following equations using the formula —b+ B2 — 4ac
X = —
2a

Give your answers correct to two decimal places.

5. 42+ 2x—1=0






Solve the following equations using the formula —b+ B2 — 4ac

X ——
2a
Give your answers correct to two decimal places.
6. 3x)—x—1=0
Solve the following equations using the formula b+ Jh2 =
Y = b+ 2&; 4ac

Give your answers correct to two decimal places.

7. 3x) —6x+2=0






Solve the following equations using the formula —b+ B2 — 4ac

X ——
2a
Give your answers correct to two decimal places.
8. 3x¥+7x—5=0
Solve the following equations using the formula b+ Jh2 =
Y = b+ 2&; 4ac

Give your answers correct to two decimal places.

9. 5x2—4x—2=0






Solve the following equations using the formula —b+ B2 — 4ac

X ——
2a
Give your answers correct to two decimal places.
10. 3x*+8x+2=0
Solve the following equations using the formula b+ Jh2 =
Y = b+ 2&; 4ac

Give your answers correct to two decimal places.

11. 6x2— 9% —4=0






Solve the following equations using the formula —b+ B2 — 4ac

X ——
2a
Give your answers correct to two decimal places.
12. 3x*+7x=2
Solve the following equations using the formula b+ Jh2 =
Y = b+ 2&; 4ac

Give your answers correct to two decimal places.

13. 42+ 3x=5






Solve the following equations using the formula —b+ B2 — 4ac

X ——
2a
Give your answers correct to two decimal places.
14, 2x’=7x—14
Solve the following equations using the formula b+ Jh2 =
Y = b+ 2&; 4ac

Give your answers correct to two decimal places.

15. 3x2+5x =3






Exercise 8.2

1. x = —3.41, —0.59 2. x = —5.24, —0.76
3. —3.45,1.45 4. —1.83, 3.83
5. —0.81, 0.31 6. —043,0.77
7. 042, 1.58 8. —291,057
9. —0.35, 1.15 10. —2.39, —0.28
11. —0.36, 1.86 12. —2.59, 0.26
13. —1.55, 0.80 14. 0.72, 2.78
15. —2.14,0.47
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